TLITIES

FMONUIFE

STORM,
O L0000
O.01580
G L QLHON
QL8000
0,850

0.992%5
STORM,

O L0000

0L GHES

O Input data
1

STRLICT,
&HP00
LHFOZ2
LHT04
LP0L

O

STRUC
SHé40
H&E42
&EHA4
GhHAL
A48
HETRO
')
. Inpe
STRUCT .,
E790
£ T8
2 7G4
L7994
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)

o~ o

~

Co Inpul datas
f.'fl.
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i
R

i
z
—_
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7

)
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0.9875
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DETEMNT IO
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&7 E0
H7IE
L7754
&ET7EE
&H7E8
6740
6742

O
C, Imput

STRUCT . &

H790
L6795
HBOO
&210
6HE15

O

Co ITnput data (E1. O,
STRUCT, 7

£805
H810
L8105

C., Input
XSECT. 1

1
C, Inmput
XSECT ., 2
HBED
&886
LH887
&~884a

O
C. Inmput
XSECT .,
HBZ20
AHA821
LHRZY
68275

Cr
C. Input
XSECT. 4
L7869

data

data

i

L] E3
R S

i)
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&T77C 196
&771 ]
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&7 75

0 .
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H681

i )
Co Input data (E1. 4,
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&B20
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A8275
HBET

<) ) ]

a4
]

toolata (E1. 0O, A)Y for
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H&EET

]
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XSECT., @
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&LAHTFA

)

Co Imput data (El, 0, A)Y for X-Sect
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&EOHF L s O
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O3 i)
o Trwut data
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&HEE ] 0

HDEE. S 10 A




o
.

5%
3
1

AR ¥ SO s MY N
then i

f.nf_nr.nr_n
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08-07-1987
Input file name:
100-YEAR 24-HOUR STO

Time increment .1 hr

Storm pattern no. 1
time increment=
QL 0000
O.0150
O.04600
QL8000

0

O L E&O8

0,000

OLGETE

Total rain

¥ Input dsta (E1, @,

Etructure mo. 1

¥ Input data (El1, O,

~

Structure no. 7
Elev
ft
&S0 OO
GEA4E .00
&&E44 ., 00
G64&.00
6464800

SE50, 00

¥ Input data

Structure no. 3
Ele‘v'
ft

(El1, 0,

arridevp.dat
MONUMENT ERANCH MASTER DRAINAGE STUDY (RT)

RM e

=

. hre

OL.Q0ZS
QL O200
O, 1000
0L 8200
0L BAHRD
05050
0L 9T
O, FAO0
O, 9E2D
QLG50

1
cfz

.0
21

Bia.0
110.0
11500

Yol J

(
cfs
0,0
12.0
535.0
165.0

P T

=

£
UL

S, 0

Yol

ol

cfe

FROJECT NO 446382

QL0050
0O,0250
0. 7000
0.83006
O.8700
O.F100
0.2400
O.F6£50
O, FERO

0.9975

106,

Vol
actt

T
]

=
-
-

Ol b R e
L0 RY b

B

Fes DF 116

Vol

actt
0,0
2.5
2.1
20.0
8.0

- i T
2w D

Res DF BA

Vol
actt

— DEVELOFED with DETENTION FACILITIES

Q.0075
O, 0700
O.75800
. 8400
G.BERO
0.F150
0.F450
Q.2700
0,875

1.0000

O.0100
0. 0800
GL. 7800
O, 2500
O.LB500
09213
O . SEOO
09750
O, @F00

1.0000



X

Input

&E7G0.00
672,00
6734 .00
67926.00
6798, 00

data (E1,

Structure no. 4

Imput

Elev
ft
&716.00
6&718.00
6720 .00
L722.00
LTEL D0

726,00

data (E1,

Structure no. &

Eleyv

EF40, G0

&E74Z,00

data (E1,

Structure no. &

Elev
ft
E7R5.00
&E800 ., 0
&EB10.00
815,00

¥ Input data (E1

Structure no. 7

¥

Input

Elev
ft
EBOS GO
810,00
6815, 00

&820.,.00

ni
]
-+
0}

b

(E1,

Q,

ci,

o,

@,

i

0,0 0.0

24.0 1.3
70.0 2.9
110.0 5.4
140.0 7.1

Vel) for Res DFE &

G Vol
cfs acftt

0.0 0.0
85.0 4.4
240,00 .7
440.0 1&£.0

6BO.O 22,
FEO.L0O 29,0

Vol for Res DF 10 (4,10-8)

(] Yol

cfs actt

Q0.0 0.0
2400 6.5
80,0 1z.8
170, 0 22.5
1&0.0 Z1l.4
2FELO 41.0

430,30 i, 4

VYoll for Res DR 2
¥ Vol
cfa actt
0.0 0.0
250.0 &5
455.0 21.5
1510.0 44,8
4E70.0 Zub

Val) for Res DR GA

Q Vol

cfs actt

Q.0 0,0
105.0 b.6
190.0 i4.8

840.0 IEL2

Vol) for Res DF 108



Structure no. 9

¥ Input

Reach no.

¥ Input

¥ Inmput

Feach no.

¥ Input

Reach no.

¥  Input

Elev
ft
LEBZO. 00
HB22.00
HEZL OO
HB2L .00
HR28. 00

data (E1,

1
Elev
ft
&EF0T .00
&EFOTF .00
L1000

o
w
-
n

{E1l,

887 .00

data (El,

-r
=

Elev
ft
HEE0 .00
&821 .00
GEZ2 .00
&322, 00

data (E1,

/

4
Elev
ft
A7 HT .00
HE770.00
&771.00
H7T72.00
&77E.00

data (E1,

Q
cfs
0.0
24.0
70,0
110.0
140.0

Q, A) for

a
cfs
Q.0

1470
480.0
PG L0

)

Gy

G, Ay for

t
cfs
0.0

2600
G450

1707.¢

t. A) for

G
cfs
)

196.0
&E4b& .0
1317.0
2211.0

0. Al for

X—Sect 1

Area
sqgft
G,.0
4.0
7&EL0
126.0

Area
saft
0.0
&4.0
13546.0
2146.0

X—Hect 4

Area
sqft

0.0
42.0
1G66.0
171.0
244 .0



Reach no. 5

Elev
ft

7 8. 00

79 .00

. als)

&81.00

o

~0

HiaE

0 <

¥ Input data

Reach no. &
Elev
ft

HBZO .00

BRI 00

¥ o o Input data {(E]

Feach mo. 7

(E1,

cfs
0.0
Z290.0
G41.0
1891.0

. A) for

G
cfs
0.0

S5O
100.0

7L 0

Area
=qft
GO
74,0
1546.0
24600

X—Sect &

Area
sqft

0.0

£ Input data

Feach nino. &8

¥ Input data (]

Reach no. 2

o

SET1 00
EETE D0
LEIELO0
;g iy
Esad 00

G, AY for

il
~
i

T

O,

20 .0
F41.0
1891 .0

2128.0

ST =T
=Tt

0.0
F4.0
1584.0

o
R T A

S44,0



¥ Input data (El, Q, A) for X-Sect 11

Reach no. 11
Elewv ]
ft cfs
&AL L OO0 0.0
EEF2.00 182.0
LEGTL0O0 6010
6624 .00 1233.0

Area
sqft

0.0
44,0
6.0

156.0

¥ Input data (El, 0O, &) for X-Sect 17

Reach no. 1
Elev ol
ft cfs
&S558, 00 (W
&858, 50 10,0
: E7.0
165.0
419.0
828.0
1184.0

BOT . O

¥ Imput data (E1. @, &) for

Feach mo.

cfea
[ ]
RN I
105,00
2E1.0

el L ow

G1&.0

¥ Input dats (El. 0O, A for

Reach no. 14
Elewv G

ft cfs

&780.,00 0.0

&781.00 RN

&7EE.00 142.0

&783 .00

&E784 00

&784 80

¥ Input data (E1,

o
-
-
L
—
0
7%

frea
sqgft
0.0

—_

a0
g.0
24.0
48.0
80,0

124,00
2130

F11.0

sot 10O-F

Area
sttt
<, O
2.5
&7
11.Z2
1&5.1
15.¢9

Diversion Channel



Reach no. 135

Elev Q Area

ft cfs sqgft

ET740, OO0 0,0 Q.0

6741.00 16.0 ?.0

&742 .00 6HP.0 26.0

6747% .00 171.0 21.0

&744 .00 SEE.0 84.0

&745.00 S&66.0 125.0

67446, 00 884.0 174.0

¥ ERasin ERi1

Calculate the hydrograph for basin no. O to unit 1
area= .2 sg. miles tc= .1 hours cn= 76

total volume= Z72.,39409 a
pealk flow = 456,438 cfs

¥ Route Bl thru REZE

Rowute the hvdrograph in wunit L through reach 1 to unit

total volumes= R2E3.39450% acre-1Tt
peak Tlow = 444,704 ofs

* Bazin B2

Calculate the bydrooraph for bazin no. O to unit 1

L0 mg. miles o= L5 hours o= 7Y

volumes= 9,5885%721 acre—Ft
Tlow = QE0.8I95 ofs

¥ Total bslow B2

Add the hydrographs in unitse 1 and 2 to wunit =

]

total volume= 3I2.9814 acre—-ft
peak flow = LBGE.4907 cfs

i

¥ FRoute to confluence in G2
Foute the hydrograph in unit % through reach 1 to unit
total volume= 22.9214 acre—-ft

peak flow = DP0.&004 cfs

¥ PBasins 46 & 51

-y
.

4



Calculate the hydrograph for basin no. O to unit 1
area= .2 sg. miles tc= .18 hours cn= 73.7

total volume= Z21.51527 acre—ft
peak fTlow = 377.3818 cfs
¥ Frint hydrograph for basin AG1
¥ FRoute to confluence in G2
Route the hydrograph in wunit 1 through reach 1 to unit 2
total volume= 21.51526 acre—ft
peak flow = 2&D.44675 cfs
¥ Combine at confluence in G2
Add the hyvdrographs imn unite 7 and 4 to unit 1

total volume= B4 ,4%9447 acre-ftt
pealk Tlow = Q04,07 cfs

Foute the hydrograph in unit 1 through reach 1 to wunit 2
total volumes= 54,.4%4649 acre-ft
peak flow = Q44 0ZBE ofs

¥ Bain GZ

Calculate the hydreograph for basin no. O to unit 1
arga= .2 sg. miles tc= .1 hours cn= 7&
total volumes Z32,.329409 acre-Tt
peak flow = 4545.63%98 ofs

X Total below GZ

Add the hydrographs in units 1 and 2 to umit =

total volume= 77.89278 acre—ft
peak flow = GG4LH.ELEBB ofs

¥ Rasin E

Calculate the hydrograph for basin no. O to unit 1
area= .3 9. miles to= .33 hours cn= 70



total volume= 18.%&4744 acre—ft
peak flow = 266.B06B cfs

X Route thru F

Route the hydroagraph in unit 1 through reach 2 to unit 2

total volume= 18.546744 acre—ft
peak flow = Z54.8458 ofs

¥ PBasin F

Calculate the hydrograph for basin no. O to unit 1
area= .11 sg. miles toc= L1393 hours cn= 78

total volume= 13.8745%9 acre-ft
peak flow =

X Total bhelow F

to unit 4

k]

fAdd the hyvdrographs in units 1 and

total volume= I72.44404 arre-ft
peak flow = IVH.T7EES ofs

¥ Total DP 1L

Add the hvdrographs in units 23 and 4 +to unit 1
total volume= 110.33548 acre—ft
peak Tlow = 1300H,008 cfs

¥ Route to beslow J

Foute the hvdrograph in wunit 1 through reach 2 to unit

total volume= 110.37%348 acre—-ft
peak’ flow = 1Z295.467 cfs

¥ BRasin J

Calculate the hydroaraph for basin ne. O to umit 1
area= .25 sq. miles te= 14 hours cn= 82
total volume= 34,1493 acre-ft

peak flow = &06.6287 ofs

¥ Combirmne to below J

by
atl.



fdd the hydrographs in units 1 and 2 to unit 3

m}

taotal volume= 146.4862 acre—-ft
peak flow = 188&4&.48 cofs

¥ BRasin I

Calculate the hydrograph for basin no. O to unit 1
area= .15 sg. miles tc= .07 hours cn= 76
total volume= 14£.71702 acre-ft
peak flow = 3801.05088 cfs

¥ FRoute to below J

Route the hydrograph in unit 1 through reach 7 to unit &
total volums= 14.71702 acre-ft
pealk flow = 40,5504 ofs

¥ Combine I to total below J

ado the hyvdrographs in unite 20 and I to unit 4

total volumes= 1&47.2032 acre—ft
perak Tlow = FETL1E ofs

¥ Fasinz K

Calculate the hyvdrograph for besin no. O to unit 1
area= ,03 sg. miles toc= 0% hours cn= 81

total volume= Z,2346F1 acre—Tt
peak flow = QE.H70T7E cfs

¥ FRoute to DF 2

Foute the hydrograph in unit 1 through reach T to unit 3
total volume= 3,336211 acre-ft

peak flow = B0.8Z408 cfs

¥ Total at DF 2

~y
e

fdd the hydrographs in units 2 and 4 to unit

total volume= 14656.4394 acre—Tt
pealk flow = Z0O07.954 cfs



¥ Reservoir at DF 2

¥ FRHYD,

]

Route the hydrograph in unit Z thru

total volume= 1446.4844 acre—-ft
peak flow = 1290.247% cfs

¥ FRHYD, )
Hydrograph in unit % placed in uni

X Route to DF 3

FRoute the hydrograph in unit & throu

total volume= 14
peak T1ow = 11

X Hasin N1

Calculate the bvdrograph for basin o
area= .11 =sg. miles to= 13

tal volumes

ot
sk T low =

.'.
i

¥ Combine NI to DR 3

Add the hydrographs in units 1 and
total volume= 18%.443%5 acre—-ft
peEals T1low = 1311.5584 ofs

¥ EBasin L1

Calculate the hydroaraph for basin n
area= .04 =q. miles to= W04

total volume= 7.73%9%71 acre—Tt
peask T1ow = 1&2.5881 ofs

¥ FReservoir at DF 10FE

¥ FRHYD, 1

structure & to unit

t Z
. :

ah reach 4 to unit 1

o 0t oumat 2
Foure cn= 84

—

= toounit 5

o. O to unit 1
hours cn= 81

o



Foute the hydrograph inm unit 1 thru structure 9 to unit 6

total volume= 7.7569649 acre—ft
peak Tlow = BH.89844 cfs

¥ FRHYD, &

Hydrograph in unit & placed in unit

¥ Hasin L2

Calculate the hydreograph for basin no.

O

1

area= .02 sg. miles te= 02 hours

total volumes= 3.141738 acre—ft
peak flow = &7 .120531 cfs

¥ Total at DP9

Add the hvdrographs in wunits 1 and X

volume= 10.21124 acre—1t
T 1oy = 15%1.9%38 cfs

to unit

to unit 2

on=

Hydrograph im wunit 3 placed in wunit 1

¥ Hasin M1

Calculate the hvdrograph for basin mno. O to unit 2
areas .05hH 9. miles te= W05 hours cn=

total volume= 8.8472%9%5 acre—Tt
peak fTlow = 1&7WEIET ofs

¥ Reservoir at DF 104

8]

¥ FRHYD,

Foute the hydroagraph in unit 2 thru structure

total volume= 8.8B84%%97 acre—Tt
peak flow = H0O.17822 cfs

¥  FRHYD, &

Hydrograph in unit & placed in unit

k2

oz

1 to unit &



X FRasin M2

Calculate the hydrograph for basin no. O to unit =
area= .13 sg. miles tc= .08 hours cn= 92
total volume= Z5.1&65%4% acre—-ft
peak flow = 4TE3.6245 cfs

¥ Total M1 & MZ at DF 10A

Add the hydrograpbs in units 2 and 3 to unit 4
total volume= 24,050015% acre—-ft
peak flow = 512.5885% cfs

¥ Total bslow DF 104

fAdd the hyvdreographs in wunits 4 and 1 to umit 2
total volume= 4435222 acre-—-ft
pealk Tlow = &H&d, LBE0E ofs

¥ FRowute into Reservolr above DF 10{Dewvi

Foute the hydrograph in wunit 2 through reach 15 to unit
total volumes 44.%94214 acre—-ft
peralk T 1o = 400.8859 ofs

¥ BEasin NZ

Calculate the hydroograph for besin rno. O to wunit 2
arsa= ,0&4 sg. miles to= L07 hours cn= Q2

11.75407 acre-ft

200,01 ofs

volumes=
flow =

¥ Total diversion & inflow

fidd the hydrographs in units 1 and

total volume= DH4.31401 acre—-ft
peak flow = Bl&6.712%8 cofs

¥ Reszervolr at DIF 10

¥ FRHYD, =

into Reservoir

2 to unit 3



Foute the hydrograph in wunit F thru structure 5 to unit &
total volume= 546.41181 acre—-ft
peak flow = 151.665 cfs
¥ FRHYD, &
Hydrograph in unit & placed in unit 3
¥ Total below DF 2 & 10
Add the hydrographs in units 5 and T to unit 2
total volume= Z2I9.85484 acre—ft
peak Tlow = 1442 885 ofs
¥ Route total DFPF 3 & 10 to DP 7 — North Branch
Route the hydrograph in unit 2 fthrough reach % to wunit 1

total veolumes= 23Z2,.85%57 acre—ft
peak flow = 1448.59% ofs

ES
2y
[H]
1t
et
=
X

Caloulate the hyvdrograph for basin no. © to uni
area= 08 =sg. miles to= .11 hours

n

total volume= 11.1&4471 acre-+t
peak flow = FOY%,.&6470 ofs

¥ Total North Eranch DF 7
Add the hydrographs in wunits 1 and & to unit 7

total volume= ZB1,0187% acre—Tft
pealk flow = 144003727 ofs

¥ Rasin C1
Calculate the hydrograph for basin no. © to wunit 1
area= .19 sq. miles te= .1 hours cn= 78

total volume= Z23.9042% acre—ft
pealk flow = s

¥ FRoute to DF 5



FRoute the hydrograph in unit 1 through reach 7 to umnit 2

total volume= 23.904624 acre—-ft
peal flow = 4440994 cfs

Calculate the hydrograph for basin no. 0 to unit 1
area= .1 sg. miles toe= L1353 hours cn= 81

total volume= 132,97578 acre—-Ttt

peak flow = Z58.2068 cfs
¥ Combine C1 & CZ at DF 5

Add the hydrographs in units 10 and 2 to wunit

total volume= 27.
peak flaow ==

* Eagin I

in no. O to unit 1

Calculate the hyvdroogrsph for ba:
: L4 howrs cn= 80

17 =0. miles tis
volume= 22

T 1w = 401,

¥ Total at DF O

Add the hydrographs in wunitz 1 and 2 to wnit 2
total wvolume= &0,846E287 acre—ft
pealk Tlow = 10&63.514 ofs

¥ FRoute to DF &4

Foute the hydrogreph in unit 2 through reach 7 to unit 3

total volume= &60.8B472% acre—ft
peal: flow = JOEG.715 cfs

*
[an)
bt
n
'_l .
a
I

Calculate the hvdrograph for basin no. O to unit 1
area= ,1 sg. miles tec= .1 hours cn= 82

total volume= 14.,44097 acre—~ft



pealk flow =

¥ Route H to DF 6&6A

Route the hydrograph in umit 1 through

i

= 14.44097 acre—ft
2709276 cfs

total volume
peak flow =

¥ Combine DF & & H at DF &A

fAdd the hvydrographs in units 2 and
total volume= 735 59 acre—-ft
pealk flow = cfs

¥ Basin (01

Calculate the hydrograph for basin
area= .1 =sqg. miles to= 0%

total
peasb

acre—T1t

cfs

Wil Lmes s
Tlow =

¥ Totzl at DF &4

fdd the hwdrographs in wunits 1 and
volumes= 8% .7554% acre—ft
T1low = 12873.402 cfs

¥ Reservoir at DF &4

¥ FRHYD, =

Foute the hydrograph in unit 3 thro

total volume= 89%9.832409 acre—-Tt
pealk flow = 5 }

reach & to unit

= to unit 1

ric. O to owunit @
hours cn= 82

2 to unit 3

structure 7 to unit

¥ FRHYD, 5
Hvdreograph in unit 5 placed in wunit

¥ Route to DF &

Route the hvdrograph in

unit 2 through

reach 7 to unit

=
o



total volume=s B9.825%44 acre—ft
peak flow = 7E4.46%94E ofs

¥ Basin 02

Calculate the hydrograph for basin no. O to unit 1
area= .17 eg. miles tc= .11 hours cn= 8734

total volumes=
peak flow

E

i

X Total at DF &

Add the hyvdrographs in units 1 and 2 to unit =2
total volume= 1
pealk flow = 7

¥ Route to DF 7

Route the hvdrooraph im ownit 3 through reach 8 to upit 2

total volume= 115,177 acre—ft
peals flow = TEHEO,.H110 of=

¥ ERasin S

Calculate the hyvdrograph for baszin no. O to umit 1
area= .1 sg. miles to= 08 hours cn= &1
total volume= 1373425 acre—-ft
pealk flow == -

¥ Total at DF 7 — South Eranch

Add the hyvdrographs in urmits 1 and 2 to umit =

total volumes
peak flow =

¥ Total at DF 7

Add the hydrographs in unite 3 and 7 to unit &

total volume= I79.9291 acre—Tt

Tlow = Z2ETL.3EH1L ofs

¥ Foute to DF 84



Route the hvdrograph in

total volumes=
peak flow =

¥ PBasin T2

Calculate the hydrograph for basin no. ©

area= .02 sq.

total volume=
peak flow =

¥ Basin T2

Calculate the hvdrograph for basin no. O

area= .07 sq.

total volume=

peak flow =

¥ Reservoir for

¥  FRHYD, 2

Foute the

total volume:=
peak flow =
¥ FRHYD, O

Hydrograph in unit

¥ Combime T2 & T3

Add the hydrographs

total volumes=
peak flow =

¥ Total at DF 84

Add the hydrographs in units

total volume=
peak Tlow =

T=

hyvdrograph

Z79.929 acre-ft

2LEE4.78 cofs

te unit 1
miles tc= .03 hours cn=
2.6709446 acre—ft
L2 .244632 ofs

to unit 2

miles te= 06 hours cn=
11.27487 acre-ft
220.Q374 of=

(DF 867

in unit Zothro structure to

1i.4161 acre-ft

G4,22858 cfs

o placed in wunit 2
in units 1 and 2 to unit =

14.08705 acre-ft
15Z2.49467 cfs

and 7 to unit &

94,0158 acre—-ft
227%9.17% cfs

unit 6 through reach 9 to unit 7

87

88

urit

il



¥ Route to DF B

Route the hydrograph in unit & through reach 9 to unit 7

total volume= IZ94.0159 acre-ft
pealk flow = R279.027 cfs

¥ EBasin T1

Calculate the hvdrograph for basin no. O to unit 1
area= .06 sg. miles te= .17 hours cn= &9

total volume= 5, . acre—Ff+t
peak flow = Q4 22789 cfs

¥ Total at DF 8

Add the hydrographs im units 1 and 7 to unit &

acre—f+t
cte

total volumes
peak flow =

¥ FRoute DF 8§ tao DF 11X

Route the hvdrograph inm unit & through reach 123 to unit

total valume= acyre-Tft
peal T1ow = ctfs

¥ PBaszin 0OZ
Calculate the hydrograph for basin no. O to unit 1
area= .27 sg. miles toc= .1 hours cn= 92

total volume= 53,04408 acre-ft
R

pealk flow = 8Y6.8577 cis

¥ EBRasin F2

Calculate the hydrograph for basin no. O to unit 4
area= .08 sq. miles tc= 08 hours cn= Q32

total volume= 15.48&447 acre—Ft
peak flow = 2645.8458 cofs

Divert the flow in excess of BO cfs from uriit 4 to unit

-
4



¥ Route Diverted flows to Reservoir at DF iiA

Route the hydrograph in unit 3= through reach 15 to unit 2

total volume= 46.1%0%91 acre—ft
peal flow = 181.0504 cfs

-

Add the hydrographs in units 1 and 2 to unit 3
total volume= 59,237 acre-ft
peak flow = 1045.8258 cfs

¥ FReservoir at DF 114

¥ FRHYD, =

o

Route the hydrograph in unit 3 thru structure 2 to unit 5

total volume=
peak flow =

acre—Tft
Te

¥  FRHYD, i

Hydrograph in unit % placed in unit 3
¥ Total DF 11A

¥ Route DF 114 to DF 11

Foute the hydrograph in wunit = through reach 11 to unit 1
total volume= 59.38303 acre—-ft
peak flow = ZEZ.Z2111 cfs

¥ EBasin Q1

Calculate the hydrograph for basin no. O to unit 7
area= .03 sg. miles tc= .11 hours cn= &9

total volume= Z.&55747 arre—-ft

£~y £

pealk flow = DZ.E4510 cof=s

¥ Total DF 11

-

Add the hydrographs in units 1 and 2 to wunit =

total volume= &1.937464 acre-ft
peak Tlow = ZEY.9834 ofs



¥ FRoute F2 base flows (DF1Z8) to DFLZ

Route the hydrograph in unit 4 through reach 11 to unit 2
total volume= 9.295505 acre—ft
peak flow = 79.999%21 cfs

¥ BRasin F1

Calculate the hydrograph for basin no. O to unit i
area= 0% sg. miles tc= .08 hours cn= &9
total volume= 2.59705% acre—-ft
peak flow = 54.88447 cfs

¥ Total DF 12

fAdd the hydrographs inm unite 1 and & to unit 5

F254 acre-ft

total volume= . 2
Z4.BEIE ofs

peak flow =
¥ Foute DPF 12 to DF 11

Route the hydrograph in unit 5 throuoh reach 17 to unit 4
total volume= 11.8%92546 acre—ft
pealk flow = 134.78%7 cfs

X Total below DF 11

Add the hydrographs in urnits 4 and 3 to umit 2

A

total volume= 73,.87978 acre—ft
peak flow = 4RZ.5544 ofs

¥ Basin U

Calculate the hydrograph for basin no. O to unit 1

area= .1 sqg. miles tc= 23 hours chn= 74

total volume= 10.8%9404& acre—-ft
peak flow = 174.79% cfs

¥ Total DF 13

Add the hydrographs in unite 1 and 2 to wunit 3



total volume= 84.72384 acre—-ft
peak flow = &235.04B9 cfs

and 7 to unit 1

Add the hydrographs in units

total volume= 4B4.04673 acre—ft
peak flow = 24BD.32% cfs

¥ FRoute to DF 14

Route the hydrograph in unit 1 through reach 12 to unit 2

total volume= 484.0674 acre-ft
peak flow = 2472.01%2 cfs

¥ Bacin V

to unit 1

basin no. O
cn= &9

Calculate the hydroaraph for
tc= .2 hours

area= ,19 sgq. miles

total volume= 1&. 87557 acre—ft
pealk Tlow = Q72478 ofs

¥ Total DF 14 (Baszin Total)

Add the hyvdrographs in units 1 and 2 to unit 3
total volume= S00,9404 acre-ft
peak flow = 2490 ,672 «©
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Erd of computation



